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Problem: A boy standing on the ground throws a ball
 straight upward with a speed of 25.0 m/s. How long




Problem: Two balls are dropped from different buildings.
The first building is twice as tall as the second building.
How much longer does the first ball take to hit the ground
8588@ vith the second ball? Ignore air resistance.
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Ball A is dropped from a window . At the same instant,
_umz B is thrown downward and _um: C is thrown upward
n the same <§ dow. égow statement concerning the
. | ce is neglected?
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D) All three rszm have Sm S

instant. | |
E) All three balls reach the ground with the same velocity.







Interactive Question

ﬁéo rocks are drop aom into two diff ,oﬂu ém:m The
first one takes three times as _o g ? : rgao as the

second one.. Hn ore air resistan
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Interactive Question

n and Jerry release their snowballs fron ap@ same
| r@mg NSQ m; the same time. B Ben's is dropped while
Jerry’ s is thrown horizont: lly. W rich one hits the
ground first?
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A tennis ball is throv b cw mi at S .\ -- ,,.
an ar n_@ @o w@ it A and T:e LY .

E) None of the above



A tennis ball is ﬁgoéﬁ upwardat | \y .-
an angle @o 10:: A and follov e o C

motion is shov /n 1 Yon
ball leaves the person’ s rm a
- just before it hits the grounc mv
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what point 1s the velocit
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| g: leaves the ﬁ@amos S g /ma E
- just before it hits the grounc mv

At what point is the vertical
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acceleration equal to

A)A B) B
NoXel o D)D
E) None of the above
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A tennis ball is thrown upward at

an angle from point A and follows o

a parabolic path as shown. (The /B

motion 1S shown @oE the time the oA

ball leaves the person’ s hand until
just before it hits the ground.) D

>v B | b)LC
C)D D) All of the above
E) None of the above
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_um: wgﬁwmﬁ owwamos mrm m _ _.

just before it hits the ground. v

t what point is the horizontal acceleration equal to

A)A ~ B)B
E) All of the above
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A) A ~ B)B
O C DD
E) The speed is the same every




